

abu.1

$$f(x) = \begin{cases} x^2 - 8x + 16, & 0 < x < 5 \\ (a^2 + b^2) \cdot \ln(x - 5 + e) + 2 \cdot (a+1) \cdot e^{5-x}, & x \geq 5 \end{cases}$$

$$a) \lim_{x \rightarrow 5^-} f(x) = \lim_{x \rightarrow 5^-} (x^2 - 8x + 16) = 25 - 40 + 16 = 1$$

$$\lim_{x \rightarrow 5^+} f(x) = (a^2 + b^2) \cdot \ln e + 2 \cdot (a+1) \cdot e = a^2 + b^2 + 2a + 2$$

b) H f einen Grenzwert zu $x_0 = 5 \Leftrightarrow$

$$\lim_{x \rightarrow 5^-} f(x) = \lim_{x \rightarrow 5^+} f(x) = f(5) \Leftrightarrow$$

$$a^2 + b^2 + 2a + 2 = 1 \Leftrightarrow a^2 + 2a + 1 + b^2 = 0 \Leftrightarrow (a+1)^2 + b^2 = 0 \Leftrightarrow$$

$$a+1=0$$

$$a = -1$$

kon

$$b = 0$$

$$x \gg 5 \quad f(x) = \ln(x-5+e)$$

$$\lim_{x \rightarrow +\infty} (x-5+e) = +\infty \Rightarrow \lim_{x \rightarrow +\infty} [\ln(x-5+e)] = \lim_{u \rightarrow +\infty} \ln u = +\infty$$

Ex 2

$$f(x) = \begin{cases} \frac{x^2 + bx + a}{x-1}, & x \neq 1 \\ 3, & x = 1 \end{cases}$$

$u = x-5+e$

Pengerti kan apikasi

$\lim_{x \rightarrow 1} \frac{x^2 + bx + a}{x-1} = 3 \quad (1)$

Apoi $\lim_{x \rightarrow 1} (x-1) = 0$, $\lim_{x \rightarrow 1} A(x) = 3 \in \mathbb{R}$

dan jwbg di limitnya $\Rightarrow \lim_{x \rightarrow 1} (x^2 + bx + a) = 0 \iff a + b + 1 = 0$

$a = -b - 1 \quad (2)$

(1) $\Rightarrow \lim_{x \rightarrow 1} \frac{x^2 + bx - b - 1}{x-1} = 3 \iff \lim_{x \rightarrow 1} \frac{(x-1) \cdot (x+1) + b(x-1)}{x-1} = 3 \iff$

$\iff \lim_{x \rightarrow 1} \frac{(x-1) \cdot (x+1+b)}{x-1} = 3 \iff 2 + b = 3 \iff \boxed{b=1} \Rightarrow \boxed{a=-2}$

$$\text{Auf 3)} \quad f^2(x) + g^2(x) = x^4 - 2x^2 + 1 \quad (1)$$

$$\text{na } x=1 \Rightarrow f^2(1) + g^2(1) = 0 \Rightarrow f(1) = g(1) = 0.$$

$$\lim_{x \rightarrow 1} (x^4 - 2x^2 + 1) = 0 \stackrel{(1)}{\Rightarrow} \lim_{x \rightarrow 1} (f^2(x) + g^2(x)) = 0$$

$$0 \leq f^2(x) \leq f^2(x) + g^2(x) \Rightarrow \lim_{x \rightarrow 1} f^2(x) = 0 \Rightarrow \lim_{x \rightarrow 1} |f(x)| = \lim_{x \rightarrow 1} \sqrt{f^2(x)} = 0$$

$$-|f(x)| \leq f(x) \leq |f(x)|$$

↘ ↙
0